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QUESTION 164 
Which two entities are Type 1 hypervisors? (Choose two.) 
 

A. Oracle VM VirtualBox 

B. Microsoft Hyper-V 

C. VMware server 

D. VMware ESX 

E. Microsoft Virtual PC 

 
Answer: BD 
 
QUESTION 165 
A network administrator applies the following configuration to an IOS device. 

 
What is the process of password checks when a login attempt is made to the device? 
 

A. A TACACS+server is checked first. If that check fail, a database is checked? 

B. A TACACS+server is checked first. If that check fail, a RADIUS server is checked. If that check 
fail. a local database is checked. 

C. A local database is checked first. If that fails, a TACACS+server is checked, if that check fails, a 
RADUIS server is checked. 

D. A local database is checked first. If that check fails, a TACACS+server is checked. 

 
Answer: D 
 
QUESTION 166 
Which devices does Cisco Center configure when deploying an IP-based access control policy? 
 

A. All devices integrating with ISE 

B. selected individual devices 

C. all devices in selected sites 

D. all wired devices 

 
Answer: A 
 
QUESTION 167 
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A network administrator is preparing a Python scrip to configure a Cisco IOS XE-based device on the network. The 
administrator is worried that colleagues will make changes to the device while the script is running. Which operation of 
he in client manager prevent colleague making changes to the device while the scrip is running? 
 

A. m.lock(config='running') 

B. m.lock(target='running') 

C. m.freeze(target='running') 

D. m.freeze(config='running') 

 
Answer: B 
 
QUESTION 168 
Which component handles the orchestration plane of the Cisco SD-WAN? 
 

A. vBond 

B. vSmart 

C. vManage 

D. vEdge 

 
Answer: A 
 
QUESTION 169 
Which First Hop Redundancy Protocol should be used to meet a design requirements for more efficient default 
bandwidth usage across multiple devices? 
 

A. GLBP 

B. LCAP 

C. HSRP 

D. VRRP 

 
Answer: A 
 
QUESTION 170 
A client device roams between access points located on defferent floors in an atrium. The access points joined to the 
same controller and configuration in local mode. The access points are in different IP addresses, but the client VLAN in 
the group same. What type of roam occurs? 
 

A. inter-controller 

B. inter-subnet 

C. intra-VLAN 

D. intra-controller 

 
Answer: B 
 
QUESTION 171 
Which action is a function of VTEP in VXLAN? 
 

A. tunneling traffic from IPv6 to IPv4 VXLANs 

B. allowing encrypted communication on the local VXLAN Ethernet segment 

C. encapsulating and de-encapsulating VXLAN Ethernet frames 

D. tunneling traffic from IPv4 to IPv6 VXLANs 

 
Answer: C 
 
QUESTION 172 
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Refer to the exhibit. An engineer must deny Telnet traffic from the loopback interface of router R3 to the loopback 
interface of router R2 during the weekend hours. All other traffic between the loopback interfaces of routers R3 and R2 
must be allowed at all times. 
Which command accomplish this task? 

 
 

A. 

 
B. 

 
C. 

 
D. 

 
 
Answer: C 
 
QUESTION 173 
Refer to the exhibit. A network engineer is configuring OSPF between router R1 and router R2. The engineer must 
ensure that a DR/BDR election does not occur on the Gigabit Ethernet interfaces in area 0. Which configuration set 
accomplishes this goal? 
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A. 

 
B. 

 
C. 

 
D. 

 
 
Answer: A 
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